
65716571.565726572.565736573.565746574.56575
cyclenum

0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

0.16

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

0.5

1

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0.5−

0.4−

0.3−

0.2−

0.1−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1us
l_

1X
usl_1X:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
l_

12
X

usl_12X:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1−

0.5−

0

0.5

1

us
r_

12
X

usr_12X:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

0

5000

10000

15000

20000

25000

30000

us
l_

co
il1

usl_coil1:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

1000

2000

3000

4000

5000

6000us
l_

co
il3

usl_coil3:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

1000

2000

3000

4000

5000

6000

us
l_

co
il4

usl_coil4:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1000−

800−

600−

400−

200−

0

us
l_

co
il6

usl_coil6:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

5000

10000

15000

20000

25000

us
l_

co
il7

usl_coil7:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

30000−

25000−

20000−

15000−

10000−

5000−

0

us
r_

co
il1

usr_coil1:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

5000−

4000−

3000−

2000−

1000−

0

us
r_

co
il3

usr_coil3:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

1000

2000

3000

4000

5000

us
r_

co
il4

usr_coil4:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

1000−

800−

600−

400−

200−

0

us
r_

co
il6

usr_coil6:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

20000

22000

24000

us
r_

co
il7

usr_coil7:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

450−

400−

350−

300−

250−

200−

150−

100−

50−

0

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

70−

60−

50−

40−

30−

20−

10−

0

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

2

4

6

8

10

12

14

16

18

20

22

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

500−

450−

400−

350−

300−

250−

200−

150−

100−

50−

0

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

90−

80−

70−

60−

50−

40−

30−

20−

10−

0

4e
X

_c
oi

l3
4eX_coil3:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

5

10

15

20

25

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

0

20

40

60

80

100

120

140

160

180

4a
Y

_c
oi

l4
4aY_coil4:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

5

10

15

20

25

30

35

40

45

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

9−

8−

7−

6−

5−

4−

3−

2−

1−

0

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

20

40

60

80

100

120

140

160

180

200

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

18−

16−

14−

12−

10−

8−

6−

4−

2−

0

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6−

5−

4−

3−

2−

1−

0

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6591}



65716571.565726572.565736573.565746574.56575
cyclenum

250−

200−

150−

100−

50−

0

12
X

_c
oi

l1
12X_coil1:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

90−

80−

70−

60−

50−

40−

30−

20−

10−

0

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

1

2

3

4

5

6

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

0

1

2

3

4

5

6

7

8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

450−

400−

350−

300−

250−

200−

150−

100−

50−

0

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6591}

65716571.565726572.565736573.565746574.56575
cyclenum

6589

6589.5

6590

6590.5

6591

6591.5

6592

6592.5

6593

ru
n

run:cyclenum {run == 6591}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


